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MR (RX7-X) | A (ub) | edlE A 2R E (pF)
RX7-0 0-1.1110 4 (0-10)%(0.0001+0.001+0.01+0.1)
RX7-1 0-1.110 3 (0-10)(0.001+0.01+0.1)
RX7-2 0-1.10 2 (0-10)%(0.01+0.1)
RX7-3 0-0.110 2 (0-10)%(0.001+0.01)
RX7-4 0-1.0 1 (0-10)+0.1
RX7-5 0-0.10 1 (0-10)x0.01
RX7-6 0-0.010 1 (0-10)x0.001
RX7-7 0-10 1 (0-10)x1

A ARG ISR, WIS LR

2. HERfFE

10X 1pF #: +0.5%
10x0.1pF 41: +0.5%

10x0.01uF 4: +£0.65%

10x0.001pF AH: +2%

10x0.0001pF 4H: £5%

PAFAETR E 1S5 4w T -
(1) FFIZEE: +20°C+£5°C, MIEEA 30%~T70%;

(2) TYEH# 1000Hz+=20Hz;
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(3) TAEHE: 50V CHRUED;

(4) HLSHRRIA AN A MBS R PR E.

3. LEFRBEVE BE MH10°CRIA35°CHY, HAEMNBUANBTE
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4. WA UM IEVMEAE

10x1pF ZH: 0.0060
10x0.1uF 41: 0.0060
10x0.01pF £H: 0.0040

10x0.001pF Zi: 0.0040
10x0.0001pF 41: 0.0025

5. TEAEEE:

Vac<50V (FRUE); RMBERIENFEH, gEHE
N/NF 100V

6. AR (<pF):

5L | RX7-0 | RX7-1 | RX7-2 | RX7-3 | RX7-4 | RX7-5 | RX7-6 | RX7-7
LA
P 100 80 60 60 30 30 30 30
7. SMERSIHIEE
WK | ANERSF (mm) | ER(Ke)

RX7-0 (305%95x100) 1.6

RX7-1 (240%95%100) 1.6

RX7-2 (185x95%100) 1.2

RX7-3 (185%95%100) 1

RX7-4 (120x95%100) 0.5

RX7-5 (120%x95x100) 0:5

RX7-6 (120%95x100) 0.5

RX7-7 (120%x95x100) 0.5
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